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Sectmn A
Objectlve ”Iype Questions

Q:1. Choose the correct answer::
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15%1=15

i) ' Traﬁsportation problem is basically a-

(a)
(b)
c)

@
YA19-536

Maxi'mizétion model *
Minimization miode]
Transshjpmeﬁt problem
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| ii)  MODI stands for
(a) Moderndistribution
(b) Mendel's-distribution mettiod
{c) Modified distribution method
(d} Model index method |
. iii) For optimality test: -
(2) BFS must containm +n allocations.

- (b): BFS must contain m + n + 1 allocations

. {c) BFS must contain m+n — lallocatmns
. Cod)y None c}f these
1v). Theassignment matnx_ls ﬁiw‘ays a .
' | _(eﬁ)_ Squarf:mau'ix (b) Rectangularniatrix
() Ide_ntity_matr’ik (@) None of these
v) -The assignmenf problem is solved by
(), Simplex method
(b) Gl'aphical method
(c) Vector method |
fd) Hungarianmethod
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vi)' The assignment problem will have alternative
solutions when total opportunity cost matrix

has:

(a) Atleastone zero in eachrow and column

(b) When all rows haﬁe tWO Zeros

(c) When there is a die between zero

- opportunity cost cells.

(d) If two diagonal elements are zeros

.vn) In c:ntlcal path analysm the word CPM means:
(é)' Crash Pro_fect manager
| (b) _Critif:ai paﬂlmeﬂlod. |
() -.Critical Pr_ojec; mﬁnag:eihen’t_
| (d). 'tritical path ménhgémef;t
: ﬁii)SIac;kéquaIs.: - | |
@ LE-EF () EF-LF
(© EF-LS (@ LE-ES
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ix) Which of the following does not belong's tb
project planning technique?

@ CPM  (b) PERT
(c) Gclnttchazt (d) IRR,

x) The result obtained by applymg the simulation
techmque 18 :

(a) Exact. - (b) Approximate
(¢) Unrealistic (d) Noe of these
xi) Simlﬂation is : |

(a) descriptivein n&turi:-

ulm" ni.-lauy'[ o *ﬂnm dny -

| (5) ~ useful toanalyse problemwhere malyuca]
snIuﬂon is difficult

(c) a statistica[ experimént as such 1ts
results are subject to statistical errors

(@ Al of these -
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xii) When events occur at discrete points in time:
(a) A simulation clock is required

(b). The simulation advances to t'he'next event

(c) The model is a discrete event simulation L

(d) " All of't'he alternati#es are connect

xiii)A Saddle point ex1sts when '

dny

(a) Mmunax valve Maxunm value |
(b) Maxurun value Max1max valuc
- (c) __ MII‘JJITIIX valuc = Ml-mmm valutj,

(d) None of thesé
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xw) A gams is sald tobe falr If both the lower and | B

upper values of the game are
| (a) equal to z,erD E
| @) | greater than 25!‘6 |

(c) lessthan zerﬁ . |

| (d) _N {me of these
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xv) For a salesman, who has to visit Citieg -
following arc the ways of his tour plan:

(a) »n (b) (n-1)
(c) n! . (d) (n+1)1

_ Section - B
Short Answer ’I}!pe Questmns

5%5= =75
Q 2. Obtain the mxt:al basic feasible solutions to the
following transpcu tation problem using Nﬂﬁh-West
corner rule: R
- supply
| 21714 |5
Plants 303 11°(8
S 14 17 |7
L6 |2 |14
Demand 7 9 18
| o OR
- Define the following:
a) " Feasible solution
(b) Basic feasible solution |
YAI9-536 . AS-488 - Contd
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Q.3. fx plain f-"kssignment problem. Write_mameﬁatical
omulatlon of assignment problem.
. OR _

Obtain the set of necessary conditions for the

Q.6. Define the following terms in game theory

a)  Stalegy
b) Optimal stratcgy

non-linear prqgramfning problem: OR
Minimize Z=k x! y-z subject to the constraints: Solve the following game:
X 4y~ @t = 0 with x20,y20 and find the o Pled

- ' : B, B,

minimum value of Z.
Player A A3

Wod ndgauijuo 'a’t\a":\.-"(‘a_,-'-'l.-’I l'.illl{

=
"EQ4 Explam the followmg terms in PERT E g
g - a) Pessimistic: time T Z 3 |
i b) Dptlrmsnc t:me § § Section - C - _
%_ c) Most hkely t,m:le E =3 Ldng A_ns“.-er Type Ql:lesti(]l'l.S
s OR i 2 . | 5x9=45
% Write rules of Nétwori( CGﬁ_SU‘ﬂCﬁOD-' E E Q. 7' Solw: the followmg tr anspurmtmn pmblem
- | | ST R = > Destinations
Q.5. What do you understand by mmulatmn‘? Class1fy | g N D, D, b Supply
51mulat10nmodels R - L : - o1l21213 10
o OR _ Origins 02 4112 L_S
. White five advantages of simulation. - 0313 ][1]40
S | Demand - 20153065.65
'A19-536 e T ' YA19-536 . AS4BE . com
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OR

‘Write the steps of Vogel's approximation method
of solving transportation problem.

Q.8. - State and prove Kuhn- Tucker necessary and
sufficient conditions in non-linear programming.
~ OR . , o
There are 4 jobs to be assigned to the machines,
only one job could be assigned to one machine.
The amount of time in hours required for the jobs

dny

WO N2UIUO MALM [

ina mabhir__lg are given in the following matrix.
S Machine _ |
Job|A[{B|C|DJ|E.
114316217
2 11012 |11114]16
3 (432|115
| 4 1876|916
~ Find an optimum assigmnent' of jobs to machine
_ to minimize the total processing time and also find
 for which machine no job is assigned. What is.
total processing time to complete all jobs.
YAI9-536 . AS-488 - PTO.
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construction

[Acivily Preceding Activity '\Jormalt%
— - 20
1-3 - 25
2-3 : - 1-2 10
2.4 . | 1-2 12
3-4 . 13,23 05
4-5 2-4, 3-4 10

The following table gw.es the ﬂc'twmes in 5
project and time duration. .

a) Draw the activity network of the project,

b) Find the total float and free float for each activity,
¢) Deter rrune the critical path and Project duratmn

OR

For the fo[lnwmg network diagram find total ﬂaat

free float and mdependent float: -
Task: ABCDEFGH[;

Time: 23 8 20 16 24 18 19 4 10

= Dummy Actmty ~—5 O-Node
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0.10. Explain Monte - Carlo simulation with example.
' OR

A tourist car operator finds that during the past for |
months the car's use has varied to much that the
cost of maintaining the car has varied considerably.
During the past 200 days the demand for the car

ﬂuc_tuated as below: ‘
Trips/week | Frequency
= 0 16 = =
) o )
=3 . =X =
= 3 60 5 =
] ] 4]
g - g 2
3 4 40 o o
S _ =t =
= 5 30 = =

Using random numbers simulates the demand for
a 10 week period, S '
82,95,18,96,20,84,56,11,52,03
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Q.11. Explain minimax and maximin criteria is Game_

theory and solve the following game with -
graphical method:

Player B
B, B

| 2
Af-2 4
Al8 3

| “Player A
| A9 0

OR

Solve the foIl{::-wmg game by lmear progrmnmmg
Iechmque = '

: Plaj}ch R
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